
	

RAGHAV

Class	10	Social	Science	Olympiad	Mock	Test	Result
Result Marks Percentage Result	Date

Fail 3 30% 26-03-2023

:-	Result	Stats

Score 3 Accuracy	% 34

Avg	Time	Per	Question 35	Sec Total	Question 10

Total	Question	Attempted 10 Total	Question	Answered 9

Correct	Answered 3 Total	Time	of	Test 10	Min

Time	Spend 5:50	Min Avg	Time	On	Question 35	Sec

Non	Productive	Time 41	Sec Benchmark 80

:-	Subject	Wise	Stats

SOCIAL	SCIENCE
Total	Question 10 Total	Question	Attempted 10

Total	Question	Answered 9 Correct	Answered 3

Wrong	Answered 6 Skipped	Question 1

Total	Time	Spend 5:50	Min Average	Time	Spend(per	question) 35	Sec

Correct	Answered	Time 1:58	Min Wrong	Answered	Time 3:11	Min

Skipped	Question	Time 41	Sec - -

:-	Recommendation

Aww!	RAGHAV	you	have	not	pass	the	exam	.	Keep	your	heads	up	and	focus	on	below	points	:	
Your	question	attempt	speed	is	optimal

https://mocktest.aglasem.com/


:-	Solutions

Q.No.	1

Give	the	name	of	the	southern	half	of	the	Eastern	Coastal	strip	of	India.

(A)	Andhra	Coast

(B)	Konkan	Coast

(C)	Coromandel	Coast

(D)	Utkal	Coast

Status	:	Wrong	Answered Correct	Answer	:	(C)

Q.No.	2

Which	wind	bring	widespread	rainfall	over	the	mainland	of	India?

(A)	Southwest	monsoon	winds

(B)	Northeast	monsoon	winds

(C)	Southeast	monsoon	winds

(D)	Northwest	monsoon	winds

Status	:	Wrong	Answered Correct	Answer	:	(A)

Q.No.	3

Who	appoints	the	President	of	China?

(A)	People

(B)	UNO

(C)	National	People's	Congress

(D)	Monarch

Status	:	Wrong	Answered Correct	Answer	:	(C)

Q.No.	4

How	much	distance	has	been	reduced	between	India	and	Europe	by	the	construction	of	the	Suez	Canal?

(A)	70,000	km

(B)	7,000	km

(C)	5,000	km

(D)	4,500	km

Status	:	Not	Answered Correct	Answer	:	(B)



Q.No.	5

How	many	types	of	plant	species	are	found	in	India?

(A)	57,000

(B)	47,000

(C)	1,500

(D)	67,000

Status	:	Correct	Answered Correct	Answer	:	(B)

Q.No.	6

Who	do	not	come	under	the	category	of	urban	poor?

(A)	Landlords

(B)	Technicians

(C)	Shopkeepers

(D)	Farmers

Status	:	Wrong	Answered Correct	Answer	:	(C)

Q.No.	7

In	which	state	is	the	Sundarban	Bio-reserve	located?

(A)	Gujrat

(B)	West	Bengal

(C)	Kerala

(D)	Tamil	Nadu

Status	:	Wrong	Answered Correct	Answer	:	(B)

Q.No.	8

What	separates	Sri	Lanka	and	India	through	a	narrow	channel	of	sea	?

(A)	Arabian	Sea

(B)	Persian	Gulf

(C)	Palk	Straight	and	Gulf	of	Mannar

(D)	Palk	Straight	and	Persian	Gulf

Status	:	Wrong	Answered Correct	Answer	:	(C)



Q.No.	9

Navodaya	Vidyalay	have	been	started	for	which	kind	of	school	children?

(A)	Children	with	special	needs

(B)	Talented	children	in	urban	areas

(C)	Talented	children	of	rural	areas

(D)	Highly	intelligent	students

Status	:	Correct	Answered Correct	Answer	:	(C)

Q.No.	10

Name	the	british	admistrator	who	killed	400	tigers	during	tenure	in	India

(A)	George	Yula

(B)	George	Yal

(C)	Lord	Cornwallis

(D)	Lord	Clive

Status	:	Correct	Answered Correct	Answer	:	(A)


